 Выполнить умножение.

Вариант 1
 а) 100111(2)  110101(2); 
б) 15422(8)  506(8); 
в) A8(16)  E2(16).

Вариант 2
 а) 1100110(2)  101111(2); 
б) 12723(8)  2314(8); 
в) 484(16)  5A(16).

Вариант 3
 а) 1000000(2)  100101(2); 
б) 1032(8)  14704(8); 
в) 674(16)  548(16).

Вариант 4
 а) 100010(2)  1100110(2); 
б) 7414(8)  14164(8); 
в) B7(16)  DC(16).

Вариант 5
 а) 1001010(2)  1001000(2); 
б) 7472(8)  6414(8); 
в) 561(16)  33C(16).

Вариант 6
 а) 1011100(2)  101000(2); 
б) 13006(8)  652(8); 
в) 68A(16)  96(16).

Вариант 7
 а) 1001000(2)  1010011(2); 
б) 4125(8)  131(8); 
в) 3BA(16)  104(16).

Вариант 8
 а) 111000(2)  1101001(2); 
б) 1336(8)  734(8); 
в) 468(16)  BA(16).

Вариант 9
 а) 1100101(2)  1001010(2); 
б) 15444(8)  1664(8); 
в) 698(16)  308(16).

Вариант 10
 а) 1001101(2)  11111(2); 
б) 12261(8)  244(8); 
в) 366(16)  384(16).

Вариант 11
 а) 11101(2)  110101(2); 
б) 11062(8)  1452(8); 
в) 654(16)  559(16).

Вариант 12
 а) 1001011(2)  1010110(2); 
б) 16502(8)  1202(8); 
в) 194(16)  2F8(16).

Вариант 13
 а) 111101(2)  1010111(2); 
б) 125214(8)  7604(8); 
в) 6668(16)  1E3(16).

Вариант 14
 а) 1001001(2)  100010(2); 
б) 3242(8)  12212(8); 
в) F4(16)  386(16).

Вариант 15
 а) 11110(2)  1100100(2); 
б) 10346(8)  431(8); 
в) 2C4(16)  62(16).

